
Answer on Question #39825 – Physics – Mechanics 

1. A ball of mass  kg, 5.0*10^-2 starting from rest, falls a height of 4.0 m and then collides with the 
ground. The ball bounces up to a height of 2.0 m. The collision with the ground takes place over a time 
4*10^-3 s. Determine (i) the momentum of the ball immediately before the collision, (ii) the 
momentum of the ball immediately after the collision and (iii) the average force of the ground on the 
ball. 
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Solution. 
(i) The velocity of the ball immediately before the collision determines by kinematics 

of the movement:   
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The momentum of the ball immediately before the collision: 

00 mvp  ,   ghmp 20  . 

(ii) If the ball bounces up to a height of 2.0 m, we can calculate its velocity immediately after the 

collision:   11 2ghv  . 

So, the momentum of the ball immediately after the collision:   11 mvp  ,   11 2ghmp  . 

(iii) The average force of the ground on the ball:   
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Let check the dimensions. 
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Let evaluate the quantities. 
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Answer: 
s

mkg 
443.0 , 

s

mkg 
313.0 , N189 . 


